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No. 1

REDQEREM DM - FHBREUVAEREIKER

<HH5FEI0A1~58TE>
LA (1NSH)
fiffi& B =) EEIG) e
om | HERR | fiERZ | SERE | ERE | ERE | SERZ | MEAE | AT | sEHE | sEHs
9/1~5 10/1~5 LDE 9/1~5 | 10/1~5 LnE 9/1~5 10/1~5 LDE
dbifgE dbiEE 3.1 3.1 0.0 3.1 3.1 0.0 — — —
R it EHR 3.3 3.1 A 02 3.1 3.1 0.0 — — —
AEFR 3.1 3.1 0.0 29 2.9 0.0 — — —
R 3.2 3.2 0.0 2.8 2.8 0.0 — — —
AR 3.1 3.1 0.0 2.6 2.6 0.0 — — —
TG 3.2 3.2 0.0 2.6 2.6 0.0 — — —
EER 3.1 34 0.3 3.0 2.7 A 03 — — —
B = RIRE 34 34 0.0 3.1 3.1 0.0 — — —
[7EN 3.2 3.0 A 02 2.7 2.7 0.0 — — —
HER 3.1 3.1 0.0 3.0 3.0 0.0 — — —
HER 3.2 3.0 A 02 3.2 3.0 A 02 — — —
FER 3.7 3.7 0.0 3.0 3.0 0.0 — — —
BRED 34 3.6 0.2 34 34 0.0 — — —
#HRNE 3.0 3.0 0.0 2.9 2.9 0.0 — — —
IR 3.5 (3.5) 0.0 1.5 1.5) 0.0 — — —
RHFE 3.2 3.3 0.1 3.2 3.3 0.1 — — —
I B iRE 35 3.6 0.1 3.0 2.9 A 0.1 — — —
=R 3.0 3.2 0.2 3.2 3.1 A 0.1 — — —
B 3.3 3.3 0.0 2.9 2.9 0.0 — — —
AR Iz B2 IR 3.3 3.2 A 0.1 2.9 2.9 0.0 — — —
FRiE IR 3.4 34 0.0 3.0 3.0 0.0 — — —
BHR 3.2 3.2 0.0 3.0 3.0 0.0 — — —
=58 3.0 (3.0) 0.0 3.0 (3.0) 0.0 — — —
Pl BHE 3.3 3.3 0.0 2.8 2.9 0.1 — — —
HER 3.0 3.0 0.0 29 2.7 A 02 — — —
RERRF 3.1 3.0 A 0.1 3.0 3.0 0.0 — — —
KBRFF 3.1 3.2 0.1 2.8 2.7 A 0.1 — — —
EER 3.2 3.2 0.0 2.8 2.8 0.0 — — —
=RR 34 35 0.1 3.2 3.0 A 02 — — —
MILE 3.4 34 0.0 3.0 3.3 0.3 — — —
eS| BHIR 3.7 3.7 0.0 2.7 2.7 0.0 — — —
BiRE 3.1 3.1 0.0 2.7 26 A 0.1 — — —
& Ll 2 29 29 0.0 2.9 2.9 0.0 — — —
LBR 3.3 3.6 0.3 2.6 2.9 0.3 — — —
iTf=]} 3.2 3.2 0.0 2.7 2.7 0.0 — — —
m = EER 3.3 3.3 0.0 2.3 2.3 0.0 — — —
FINR 3.0 3.0 0.0 2.7 2.7 0.0 — — —
BIER 3.3 3.2 A 0.1 25 2.6 0.1 — — —
EHE 3.1 3.1 0.0 2.7 2.7 0.0 — — —
Ju-hEE | ERER 4.0 (4.0) 0.0 3.0 (3.0 0.0 — — —
EER 3.3 3.3 0.0 25 2.5 0.0 — — —
RIBR 3.0 3.0 0.0 20 (2.0) 0.0 — — —
REARR 3.0 (3.0) 0.0 3.0 (3.0 0.0 — — —
KHR 3.7 3.7 0.0 2.3 2.3 0.0 — — —
R 3.2 3.2 0.0 24 24 0.0 — — —
BRER 3.2 3.2 0.0 2.8 2.8 0.0 — — —
PEER 3.1 3.1 0.0 2.9 2.9 0.0 — — —
[ 2EFHE [ 3.21 3.23 002 | 287 2.86 A0OT ] — — — ]
|3 TYiE | 315 3.24 009 | 2.88 2.80 A 008 | — — —
HKBRENE - EFR-EHR-EEROTHIE
(%) iR
fiffiA% Eh = FHREIM TEERR
#h o] FIERE | SEHRE | MEHAE | FEAE | SEAE | FRAZE | FIRAZE | SEHAZE | FTRRAE
9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE
tEE (18 3.1 3.1 0.0 3.1 3.1 0.0 — — —
" ((68) 3.2 3.2 0.0 2.8 2.8 0.0 — — —
B R  (1#88) 3.3 3.2 A 0.1 3.0 3.0 0.0 — — —
B GR) 33 3.4 0.1 3.0 3.0 0.0 — — —
o (418) 3.3 3.2 A 0.1 3.0 3.0 0.0 — — —
& |(2FF5R) 3.2 3.2 0.0 2.9 2.9 0.0 — — —
fE (518) 3.2 3.3 0.1 2.7 2.8 0.1 — — —
m E (4182) 3.1 3.1 0.0 2.6 2.6 0.0 — — —
K -ihsE | (8R) 3.2 3.2 0.0 2.7 2.7 0.0 — — —
) ERRDERIE.
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H£a29)—bk
fiffi& B =) EiaEM TEEIKR
om | HERR | fiERZ | SERE | ERE | ERE | SERAZ | MEHAE | AT | sEHEE | sEHs
9/1~5 10/1~5 LDE 9/1~5 | 10/1~5 LnE 9/1~5 10/1~5 LDE
dbimE dbiEE 3.1 3.1 0.0 3.3 3.3 0.0 — — —
R’ it BHE 3.3 3.3 0.0 2.9 2.9 0.0 — — —
AEFR 34 34 0.0 2.8 2.8 0.0 — — —
EEE 3.2 3.3 0.1 2.8 2.8 0.0 — — —
AR 3.3 3.3 0.0 3.0 3.0 0.0 — — —
TG 3.2 3.2 0.0 2.8 2.8 0.0 — — —
EER 34 34 0.0 3.0 2.9 A 0.1 — — —
SIS TR 3.7 3.6 A 0.1 3.2 34 0.2 — — —
[7EN 3.8 3.6 A 02 2.7 2.7 0.0 — — —
HER 3.1 3.1 0.0 3.0 3.0 0.0 — — —
HER 3.1 3.0 A 01 3.0 3.0 0.0 — — —
FHER 3.8 3.6 A 02 2.9 2.9 0.0 — — —
B 3.9 3.9 0.0 3.3 34 0.1 — — —
#HRNE 3.3 3.3 0.0 3.1 3.1 0.0 — — —
IR 3.6 3.6 0.0 20 20 0.0 — — —
EHFE 3.1 3.1 0.0 3.1 3.1 0.0 — — —
I B HiRE 3.3 35 0.2 2.8 2.8 0.0 — — —
=R 3.0 3.2 0.2 2.7 2.7 0.0 — — —
B 34 34 0.0 2.9 2.9 0.0 — — —
AR Iz B2 IR 3.6 35 A 0.1 3.1 3.1 0.0 — — —
FRiE IR 3.7 3.7 0.0 3.2 3.2 0.0 — — —
BHR 3.3 3.3 0.0 2.9 2.9 0.0 — — —
=EE 3.2 3.2 0.0 2.7 2.7 0.0 — — —
Pl BHE 3.5 3.6 0.1 2.8 2.8 0.0 — — —
HER 35 33 A 02 3.2 3.2 0.0 — — —
RERRF 3.2 3.1 A 0.1 2.7 2.7 0.0 — — —
KBRFF 3.2 3.3 0.1 3.0 3.0 0.0 — — —
EER 3.2 3.2 0.0 2.9 3.0 0.1 — — —
=RR 3.0 3.1 0.1 29 3.1 0.2 — — —
MILE 3.2 3.1 A 0.1 3.0 3.1 0.1 — — —
t B BHIR 3.6 3.6 0.0 2.9 3.0 0.1 — — —
SRR 3.1 3.1 0.0 2.6 2.6 0.0 — — —
& Ll 2 3.1 3.1 0.0 2.9 2.9 0.0 — — —
LBR 3.2 3.2 0.0 2.7 2.7 0.0 — — —
iTf=]} 3.2 3.2 0.0 2.9 2.9 0.0 — — —
m = EER 3.0 3.0 0.0 3.0 3.0 0.0 — — —
BB 3.5 35 0.0 3.0 3.0 0.0 — — —
BIER 3.3 3.3 0.0 2.9 2.9 0.0 — — —
EHE 3.1 3.2 0.1 3.0 3.0 0.0 — — —
Ju-hEE | ERER 3.3 3.3 0.0 2.9 2.9 0.0 — — —
EER 3.6 35 A 01 2.6 2.8 0.2 — — —
RIFE 3.0 3.0 0.0 2.6 2.6 0.0 — — —
REARR 3.3 3.3 0.0 3.0 3.0 0.0 — — —
KHR 3.0 3.0 0.0 2.8 2.8 0.0 — — —
R 3.5 35 0.0 2.3 2.3 0.0 — — —
BREE 3.0 3.0 0.0 3.2 3.2 0.0 — — —
PEER 3.1 3.1 0.0 2.9 2.9 0.0 — — —
[ 2EFH8E [ 329 3.28 A0O1 [ 294 2.94 000 | — — — ]
|3 TYiE | 332 3.36 004 | 288 2.84 A004| — — —
HKBRENE - EFR-EHR-EEROTHIE
(&) tiERIEE
fiffiA% Eh = FHREIM TEERR
#h o] FIERE | SEHRE | MEHAZE | FEAE | SEAE | ARAZE | FIRAZE | SEHAZE | FTRRAE
9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE
tEE (18 3.1 3.1 0.0 3.3 3.3 0.0 — — —
" ((68) 3.3 3.3 0.0 2.9 2.9 0.0 — — —
B R (1#88) 3.5 34 A 0.1 3.0 3.0 0.0 — — —
B GR) 33 3.3 0.0 2.8 2.8 0.0 — — —
t o8B (4R) 3.5 35 0.0 3.0 3.0 0.0 — — —
& |(2FF5R) 3.3 3.3 0.0 2.9 3.0 0.1 — — —
fE (518) 3.2 3.2 0.0 2.8 2.8 0.0 — — —
Ed] (4182) 3.2 3.2 0.0 3.0 3.0 0.0 — — —
S -ihsE | (8R) 3.1 3.1 0.0 2.8 2.8 0.0 — — —
) ERRDERIE.
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B¢ (B)
fiffi& B =) EiaEM TEEIKR
om | HERR | fiERZ | SERE | ERE | ERE | SERAZ | MEHAE | AT | sEHEE | sEHs
9/1~5 10/1~5 LDE 9/1~5 | 10/1~5 LnE 9/1~5 10/1~5 LDE
dbimE dbiEE 3.2 3.2 0.0 3.0 3.0 0.0 24 — —
R’ it EHR 3.3 3.1 A 02 3.1 3.1 0.0 — — —
AEFR 3.3 3.3 0.0 2.7 2.7 0.0 20 (2.0) 0.0
EEE 3.1 3.0 A 0.1 2.6 25 A 0.1 1.0 — —
AR 3.0 3.0 0.0 2.8 2.8 0.0 — — —
TG 3.6 34 A 02 2.9 2.9 0.0 — — —
EER 3.1 3.1 0.0 3.0 3.2 0.2 — — —
SIS TR 34 34 0.0 34 34 0.0 2.0 (2.0) 0.0
[7EN 3.6 3.6 0.0 2.9 2.9 0.0 2.2 — —
HER 3.3 3.3 0.0 3.1 3.1 0.0 1.5 — —
HER 3.3 3.3 0.0 3.3 3.0 A 03 25 — —
FER 3.3 35 0.2 35 3.8 0.3 24 — —
B 43 40 A 03 3.8 3.5 A 03 20 (1.0 A10
#HRNE 3.0 3.0 0.0 2.6 2.6 0.0 2.2 — —
I 3.3 3.3 0.0 20 1.8 A 02 1.5 (1.0 A 05
RHR 3.1 3.1 0.0 3.0 3.0 0.0 2.4 (2.0) A 04
I B HiRE 34 3.3 A 01 3.1 3.1 0.0 2.3 — —
=R 3.1 3.3 0.2 3.1 3.2 0.1 1.5 — —
AR 3.4 3.3 A 0.1 3.1 3.1 0.0 2.0 (2.0) 0.0
AR I BRI 3.6 3.6 0.0 3.1 3.1 0.0 — — —
FRiE IR 34 34 0.0 3.0 3.0 0.0 3.0 (2.0) A10
BHR 3.2 3.2 0.0 2.8 2.8 0.0 1.7 — —
=EE 3.0 3.2 0.2 2.8 3.0 0.2 2.0 (3.0) 1.0
Pl BHE 3.1 3.2 0.1 25 2.6 0.1 1.8 (2.0) 0.2
HER 3.2 3.2 0.0 3.0 3.2 0.2 20 (2.0) 0.0
RERRF 3.0 3.3 0.3 3.0 3.0 0.0 — — —
KBRFF 3.0 3.0 0.0 3.2 3.3 0.1 20 — —
EER 3.3 3.3 0.0 2.8 2.8 0.0 24 20 A 04
=RR 3.2 3.1 A 01 3.0 3.0 0.0 20 (3.0) 1.0
MILE 3.3 3.1 A 02 3.1 3.2 0.1 24 25 0.1
t B BHIR 3.3 34 0.1 2.6 2.8 0.2 3.0 (2.0) A10
SRR 3.1 3.1 0.0 2.8 2.8 0.0 1.7 — —
& Ll 2 3.6 3.6 0.0 34 34 0.0 20 — —
LBR 3.2 3.2 0.0 24 2.7 0.3 20 — —
iTf=]} 3.2 3.7 0.5 2.6 2.9 0.3 1.3 — —
m = EER 3.5 (3.5) 0.0 25 (2.5) 0.0 — — —
FINR 3.2 3.2 0.0 3.2 3.2 0.0 20 — —
BIER 3.3 3.3 0.0 3.0 3.0 0.0 20 (2.0) 0.0
EHE 3.0 3.0 0.0 2.8 2.8 0.0 — — —
Ju-hEE | ERER 4.0 (4.0) 0.0 3.0 (3.0 0.0 — — —
EER 3.0 (3.0) 0.0 3.0 (8.0) 0.0 — — —
RIFE 3.0 3.0 0.0 2.3 2.3 0.0 — — —
REARR 3.3 3.3 0.0 3.0 3.0 0.0 — — —
KHR 3.3 3.3 0.0 25 25 0.0 2.0 — —
R 3.0 3.0 0.0 2.8 2.8 0.0 — — —
BREE 3.1 3.1 0.0 3.1 3.1 0.0 2.0 — —
PEER 3.1 3.3 0.2 2.6 2.7 0.1 1.7 — —
[ 2EFH8E [ 323 3.26 003 | 2091 2.94 003 | 204 2.13 009 |
|3 TYiE | 315 3.12 A 003 ]| 278 2.81 003 | 150 2.00 0.50 |
HKBRENE - EFR-EHR-EEROTHIE
(%) iR
fiffiA% Eh = FHREIM TEERR
it e FIEIAZE | SEAE | s1EAZE | fIEHAZE | SERZE | 1EAE | f1EAZE | SEHAZE | AIEAZ
9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE
tEE (18 3.2 3.2 0.0 3.0 3.0 0.0 24 — —
" ((68) 3.2 3.1 A 01 2.9 2.9 0.0 1.5 20 0.5
B R (1#88) 3.3 3.3 0.0 3.1 3.0 A 0.1 2.1 1.5 A 06
B GR) 3.3 3.3 0.0 3.1 3.1 0.0 1.9 20 0.1
t o8B (4R) 3.3 34 0.1 2.9 3.0 0.1 2.0 25 0.5
& |(2FF5R) 3.2 3.2 0.0 2.9 2.9 0.0 2.1 24 0.3
fE (518) 3.2 34 0.2 2.8 2.9 0.1 1.9 20 0.1
Ed] (4182) 3.2 3.2 0.0 3.0 3.0 0.0 20 20 0.0
S -ihsE | (8R) 3.1 3.2 0.1 2.8 2.8 0.0 1.8 — —
) LR OB,
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No. 4

B4 (FFD)
fiffi& B =) EiaEM TEEIKR
om | HERR | fiERZ | SERE | ERE | ERE | SERAZ | MEHAE | AT | sEHEE | sEHs
9/1~5 10/1~5 LDE 9/1~5 | 10/1~5 LnE 9/1~5 10/1~5 LDE
dbimE dbiEE 3.2 3.2 0.0 2.9 2.9 0.0 2.3 — —
R’ it EHR 3.2 3.1 A 0.1 3.0 3.0 0.0 20 — —
AEFR 3.3 3.3 0.0 2.7 2.7 0.0 20 (2.0) 0.0
EEE 3.1 3.0 A 0.1 2.8 2.7 A 0.1 1.0 — —
AR 3.2 3.2 0.0 3.0 3.0 0.0 — — —
TG 3.8 3.6 A 02 2.9 2.9 0.0 — — —
EER 3.1 3.1 0.0 3.0 3.3 0.3 — — —
SIS TR 34 34 0.0 34 34 0.0 2.0 (2.0) 0.0
[7EN 3.7 3.7 0.0 2.7 2.7 0.0 2.2 — —
HER 3.3 3.3 0.0 3.2 3.2 0.0 1.8 — —
HER 3.3 (3.5) 0.2 3.3 (8.0 A 03 25 — —
FHER 3.5 (4.0) 0.5 45 (4.0) A 05 3.0 — —
B 43 40 A 03 3.8 3.8 0.0 20 (3.0) 1.0
#HRNE 3.0 3.0 0.0 2.9 2.9 0.0 2.2 — —
I 3.3 3.3 0.0 20 1.8 A 02 1.5 (1.0 A 05
RHR 3.1 3.2 0.1 3.0 3.0 0.0 2.2 (2.0) A 02
I B HiRE 3.3 3.2 A 01 3.1 3.2 0.1 20 — —
=R 3.0 3.2 0.2 2.6 2.8 0.2 1.8 — —
AR 3.3 3.3 0.0 3.0 3.0 0.0 2.0 (2.0) 0.0
AR I BRI 3.6 3.6 0.0 3.1 3.1 0.0 — — —
FRiE IR 3.5 35 0.0 3.0 3.1 0.1 3.0 (3.0) 0.0
BHR 3.2 3.2 0.0 3.0 2.8 A 02 3.7 — —
=EE 3.0 3.3 0.3 3.0 3.3 0.3 2.0 (3.0) 1.0
Pl BHE 3.1 3.2 0.1 24 2.6 0.2 1.9 (2.0) 0.1
HER 3.2 3.2 0.0 34 34 0.0 3.0 (3.0) 0.0
RERRF 3.2 3.0 A 02 3.0 3.0 0.0 — — —
KBRFF 3.0 3.0 0.0 3.0 3.0 0.0 20 — —
EER 3.3 34 0.1 2.7 2.7 0.0 22 (2.0) A 02
=RR 3.0 3.0 0.0 3.0 3.0 0.0 20 (4.0) 20
MILE 3.3 3.1 A 02 3.0 3.1 0.1 2.0 2.0 0.0
t B BHIR 3.5 3.7 0.2 2.6 2.8 0.2 3.0 (2.0) A10
SRR 3.1 3.1 0.0 3.2 3.3 0.1 25 — —
& Ll 2 3.0 3.0 0.0 3.2 3.2 0.0 20 — —
LBR 3.3 34 0.1 2.2 2.8 0.6 20 — —
g 3.2 3.5 0.3 2.8 25 A 03 1.0 — —
m = EER 3.0 (3.0) 0.0 3.0 (3.0 0.0 — — —
FINR 3.1 3.1 0.0 3.1 3.1 0.0 20 — —
BIER 3.3 3.3 0.0 3.0 3.0 0.0 — — —
EHE 3.0 (3.0) 0.0 3.3 (8.5) 0.2 — — —
Ju-hEE | ERER 5.0 (5.0) 0.0 3.0 (3.0 0.0 — — —
EER 3.0 (3.0) 0.0 3.0 (8.0) 0.0 — — —
RIBR 3.0 3.0 0.0 3.0 3.0 0.0 — — —
REARR 3.3 3.3 0.0 3.0 3.0 0.0 — — —
KHR 3.3 3.3 0.0 25 25 0.0 2.0 — —
R 3.0 3.0 0.0 2.8 2.8 0.0 — — —
BREE 3.0 3.0 0.0 3.1 3.1 0.0 2.0 — —
PEER 3.0 3.0 0.0 3.0 3.0 0.0 2.0 — —
[ 2EFH8E [ 324 325 | 001 [ 294 | 295 | o001 | 213 | 225 | 012 |
|3 TYiE | 3.16 313 | A003]| 284 | 283 | 004 | 150 | 200 | 050 |
HKBRENE - EFR-EHR-EEROTHIE
(%) iR
fiffiA% Eh = FHREIM TEERR
#h o] FIEIAZE | SEAE | s1EAZE | fIEHAZE | SERZE | 1EAE | f1EAZE | SEHAZE | AIEAZ
9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE
tEE (18 3.2 3.2 0.0 2.9 2.9 0.0 2.3 — —
" ((68) 3.3 3.2 A 01 2.9 2.9 0.0 1.7 20 0.3
B R (1#88) 34 34 0.0 3.1 3.0 A 0.1 2.1 20 A 0.1
B GR) 3.2 3.3 0.1 3.0 3.0 0.0 1.9 20 0.1
t o8B (4R) 3.3 34 0.1 3.0 3.0 0.0 3.0 3.0 0.0
& |(2FF5R) 3.2 3.2 0.0 2.8 2.9 0.1 20 2.3 0.3
fE (518) 3.2 34 0.2 2.8 2.9 0.1 2.1 20 A 0.1
Ed] (4182) 3.1 3.1 0.0 3.1 3.1 0.0 20 — —
S -ihsE | (8R) 3.1 3.1 0.0 2.9 2.9 0.0 2.0 — —
) LR OB,

1. REQMEEBAE, 1(TH), 2(PPTH). IHIELY).

AIZEETL, ZDOFHITIVFEHLTIVS,
. REOFEBAZE, 1 (M) . 2(OOHEM) . 3(HE) . 4(PPV20B). 5(V28)ELT, FEZS—MoNEEEEHE
FFRAIESL. ZDOFEHICLYEHLTNS,

N BEQEERRE. 1(88).

ZOEHITKYFEHLTIVS,
= FNEEORHE. MEEN2EUTERT .

4(PPLER) 5(ER)ELT. BEZS—DLDOEEEEMEMR

2(EE). 3(PPHERTR). 4(MTR)ELT, FEZF—DLOEBFESEER RAIZEFL.



No. 5

&+ (BR)
fiffi& B =) EiaEM TEEIKR
om | HERR | fiERZ | SERE | ERE | ERE | SERAZ | MEHAE | AT | sEHEE | sEHs
9/1~5 10/1~5 LDE 9/1~5 | 10/1~5 LnE 9/1~5 10/1~5 LDE
dbimE dbiEE 3.2 3.2 0.0 3.0 3.0 0.0 2.3 — —
R’ it EHR 3.3 3.2 A 0.1 2.8 2.8 0.0 20 — —
AEFR 34 34 0.0 2.9 2.9 0.0 20 (2.0) 0.0
EEE 3.1 3.0 A 0.1 2.7 2.6 A 0.1 1.0 — —
AR 3.0 3.1 0.1 3.0 3.0 0.0 — — —
TG 3.7 3.6 A 0.1 3.0 3.0 0.0 — — —
EER 3.3 3.0 A 03 3.0 3.3 0.3 — — —
SIS TR 3.3 35 0.2 3.0 3.0 0.0 1.8 (2.0) 0.2
[7EN 3.5 35 0.0 25 25 0.0 20 — —
HER 3.0 3.0 0.0 2.9 2.8 A 0.1 1.8 — —
HER 3.3 3.3 0.0 3.3 3.0 A 03 20 — —
FHER 3.0 3.0 0.0 35 (3.5) 0.0 25 — —
B 40 3.8 A 02 3.6 3.6 0.0 20 (2.0) 0.0
#HRNE 3.0 3.0 0.0 2.3 2.3 0.0 2.0 — —
I 34 35 0.1 2.2 2.3 0.1 20 (1.0 A10
RHR 3.1 3.1 0.0 2.9 2.9 0.0 2.0 (2.0) 0.0
I B HiRE 3.5 34 A 01 3.0 3.0 0.0 2.3 — —
=R 3.1 3.1 0.0 2.8 2.8 0.0 1.5 — —
AR 3.3 3.3 0.0 3.0 2.9 A 0.1 1.7 (2.0) 0.3
AR I BRI 34 34 0.0 2.9 2.9 0.0 — — —
FRiE IR 3.2 3.2 0.0 3.0 3.0 0.0 — — —
BHR 3.1 3.1 0.0 2.8 2.8 0.0 2.0 — —
=EE 3.2 3.4 0.2 24 2.2 A 02 1.0 (2.0) 1.0
Pl BHE 3.2 3.3 0.1 2.8 2.9 0.1 1.7 (1.0) A 07
HER 3.0 3.0 0.0 3.0 3.0 0.0 20 (2.0) 0.0
RERRF 3.1 3.0 A 0.1 3.0 3.0 0.0 20 — —
KBRFF 3.0 3.0 0.0 3.0 3.0 0.0 20 — —
EER 3.2 3.3 0.1 2.6 2.8 0.2 20 (2.0) 0.0
=RR 3.0 3.0 0.0 3.0 2.8 A 02 20 (3.0) 1.0
MILE 3.3 3.1 A 02 3.0 3.1 0.1 2.3 2.3 0.0
t B BHIR 3.3 35 0.2 2.9 3.0 0.1 — (2.0) —
SRR 3.2 3.2 0.0 2.8 2.8 0.0 20 — —
& Ll 2 3.6 35 A 01 3.3 3.3 0.0 1.8 — —
LBR 3.3 3.3 0.0 24 2.8 04 1.7 — —
g 3.3 3.7 04 3.3 3.0 A 03 1.0 — —
m = EER 3.3 3.3 0.0 2.8 2.8 0.0 2.0 — —
FINR 34 34 0.0 3.0 3.0 0.0 — — —
BIER 3.1 3.1 0.0 2.7 2.7 0.0 1.5 (2.0) 0.5
EHE 3.1 3.1 0.0 2.9 2.9 0.0 2.0 — —
Ju-hEE | ERER 3.0 3.0 0.0 3.0 3.0 0.0 20 — —
EER 3.0 3.0 0.0 2.8 2.8 0.0 20 — —
RIBR 3.0 3.0 0.0 25 (2.5) 0.0 — — —
REARR 3.3 3.3 0.0 3.0 3.0 0.0 — — —
KHR 3.0 3.0 0.0 2.8 2.8 0.0 1.8 — —
R 3.0 3.0 0.0 2.7 2.7 0.0 20 — —
BREE 3.3 3.1 A 02 2.1 2.3 0.2 1.5 — —
PEER 3.0 3.0 0.0 2.8 2.8 0.0 2.0 — —
[ 2EFH8E [ 323 3.23 000 | 286 2.87 001 | 1.91 2.06 0.15 |
|3 TYiE | 325 3.13 A012] 283 2.91 008 | 150 2.00 0.50 |
HKBRENE - EFR-EHR-EEROTHIE
(%) iR
fiffiA% Eh = FHREIM TEERR
#h o] FIEIAZE | SEAE | s1EAZE | fIEHAZE | SERZE | 1EAE | f1EAZE | SEHAZE | AIEAZ
9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE
tEE (18 3.2 3.2 0.0 3.0 3.0 0.0 2.3 — —
" ((68) 3.3 3.2 A 01 2.9 2.9 0.0 1.8 20 0.2
B R (1#88) 3.3 3.3 0.0 2.8 2.8 0.0 20 1.8 A 02
B GR) 3.3 3.3 0.0 2.9 2.9 0.0 1.8 20 0.2
t o8B (4R) 3.2 3.3 0.1 2.8 2.8 0.0 1.3 20 0.7
& |(2FF5R) 3.1 3.2 0.1 2.9 2.9 0.0 20 2.2 0.2
fE (518) 3.3 34 0.1 2.9 2.9 0.0 1.8 20 0.2
Ed] (4182) 3.2 3.2 0.0 2.8 2.8 0.0 1.8 20 0.2
S -ihsE | (8R) 3.1 3.0 A 0.1 2.7 2.7 0.0 1.8 — —
) LR OB,

1. REQMEEBAE, 1(TH), 2(PPTH). IHIELY).

AIZEETL, ZDOFHITIVFEHLTIVS,
. REOFEBAZE, 1 (M) . 2(OOHEM) . 3(HE) . 4(PPV20B). 5(V28)ELT, FEZS—MoNEEEEHE
FFRAIESL. ZDOFEHICLYEHLTNS,

N BEQEERRE. 1(88).

ZOEHITKYFEHLTIVS,
= FNEEORHE. MEEN2EUTERT .

4(PPLER) 5(ER)ELT. BEZS—DLDOEEEEMEMR

2(EE). 3(PPHERTR). 4(MTR)ELT, FEZF—DLOEBFESEER RAIZEFL.



No. 6

EM (BERR)
fiffi& B =) EiaEM TEEIKR
om | HERR | fiERZ | SERE | ERE | ERE | SERAZ | MEHAE | AT | sEHEE | sEHs
9/1~5 10/1~5 LDE 9/1~5 | 10/1~5 LnE 9/1~5 10/1~5 LDE
dbimE dbiEE 3.2 3.2 0.0 3.3 3.3 0.0 2.8 — —
R’ it BHE 3.2 3.2 0.0 3.1 3.1 0.0 20 — —
AEFR 3.3 3.3 0.0 3.0 3.0 0.0 20 (2.0) 0.0
EEE 3.2 3.2 0.0 2.6 25 A 0.1 1.0 — —
AR 3.2 3.2 0.0 3.2 3.1 A 0.1 — — —
TG 3.7 3.6 A 0.1 3.6 3.5 A 0.1 40 — —
EER 3.3 3.1 A 02 3.6 34 A 02 — — —
SIS TR 3.3 3.3 0.0 3.3 3.3 0.0 2.0 (3.0) 1.0
[7EN 3.2 3.2 0.0 25 25 0.0 20 — —
HER 3.1 3.1 0.0 2.9 2.9 0.0 1.8 — —
HER 3.1 3.2 0.1 3.0 3.0 0.0 1.5 — —
FER 3.1 3.1 0.0 2.9 2.9 0.0 1.3 — —
B 3.6 34 A 02 2.9 2.6 A 03 1.3 (1.0 A 03
#HRNE 3.1 3.1 0.0 24 24 0.0 1.6 — —
I 3.3 3.3 0.0 25 2.6 0.1 20 (1.0 A10
RHR 3.1 3.1 0.0 2.8 2.9 0.1 2.0 (2.0) 0.0
I B HiRE 3.3 3.3 0.0 3.2 3.2 0.0 2.8 — —
=R 3.1 3.1 0.0 3.0 3.0 0.0 2.3 — —
AR 3.3 34 0.1 2.9 3.2 0.3 2.0 (2.5) 0.5
AR I BRI 3.3 3.3 0.0 2.7 2.7 0.0 2.2 — —
FRiE IR 3.2 3.2 0.0 2.8 2.8 0.0 1.5 — —
BHR 3.1 3.1 0.0 2.8 2.8 0.0 1.5 — —
=ZER 3.1 3.2 0.1 24 2.7 0.3 2.3 — —
Pl BHE 3.2 3.3 0.1 3.3 34 0.1 2.8 — —
HER 3.0 3.0 0.0 3.0 3.0 0.0 20 (2.0) 0.0
RERRF 3.1 3.0 A 0.1 2.7 2.7 0.0 1.5 — —
KBRFF 3.0 3.0 0.0 2.6 24 A 02 1.5 — —
EER 3.1 3.0 A 0.1 25 2.6 0.1 20 (1.5) A 05
=RR 3.0 3.0 0.0 2.8 2.8 0.0 — (4.0) —
MILE 3.1 3.2 0.1 2.9 3.0 0.1 2.2 2.3 .1
t B BHIR 3.1 3.2 0.1 3.2 3.3 0.1 3.0 (2.0) A10
SRR 3.1 3.1 0.0 2.8 2.8 0.0 24 — —
& Ll 2 3.3 3.3 0.0 2.9 3.0 0.1 1.8 — —
LBR 3.3 3.3 0.0 2.2 2.3 0.1 1.5 — —
iTf=]} 3.2 3.3 0.1 3.0 3.0 0.0 2.0 — —
m = EER 3.2 3.2 0.0 3.0 3.0 0.0 — — —
FINR 3.1 3.1 0.0 2.6 2.6 0.0 25 — —
BIER 3.1 3.1 0.0 2.9 2.9 0.0 1.7 (2.0) 0.3
EHE 3.1 3.1 0.0 2.8 2.7 A 0.1 2.0 — —
Ju-hEE | ERER 3.0 3.0 0.0 3.2 3.2 0.0 20 — —
EER 3.0 3.0 0.0 2.8 2.8 0.0 20 — —
RIFE 3.0 3.0 0.0 2.6 2.6 0.0 — — —
REARR 3.2 3.2 0.0 3.0 3.0 0.0 — — —
KHR 3.2 3.2 0.0 3.0 2.8 A 02 2.6 — —
R 3.1 3.1 0.0 25 25 0.0 20 — —
BREE 3.2 3.2 0.0 2.8 2.6 A 02 24 — —
PEER 3.1 3.1 0.0 2.7 2.7 0.0 2.0 — —
[ 2EFH8E [ 318 3.18 000 | 2389 2.90 001 | 205 212 007 |
|3 TYiE | 328 3.19 A 009 | 297 2.93 A 004 | 150 2.00 0.50 |
HKBRENE - EFR-EHR-EEROTHIE
(%) iR
fiffiA% Eh = FHREIM TEERR
#h o] FIEIAZE | SEAE | s1EAZE | fIEHAZE | SERZE | 1EAE | f1EAZE | SEHAZE | AIEAZ
9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE
tEE (18 3.2 3.2 0.0 3.3 3.3 0.0 2.8 — —
" ((68) 3.3 3.3 0.0 3.1 3.1 0.0 2.2 20 A 02
B R (1#88) 3.2 3.2 0.0 2.8 2.8 0.0 1.7 1.8 0.1
B GR) 3.2 3.3 0.1 3.1 3.1 0.0 24 25 0.1
t o8B (4R) 3.2 3.2 0.0 2.7 2.7 0.0 1.9 — —
& |(2FF5R) 3.1 3.1 0.0 2.8 2.9 0.1 20 2.3 0.3
fE (518) 3.2 3.2 0.0 2.8 2.9 0.1 20 20 0.0
Ed] (4182) 3.1 3.1 0.0 2.8 2.8 0.0 20 20 0.0
S -ihsE | (8R) 3.1 3.1 0.0 2.8 2.8 0.0 2.3 — —
) LR OB,

1. REQMEEBAE, 1(TH), 2(PPTH). IHIELY).

AIZEETL, ZDOFHITIVFEHLTIVS,
. REOFEBAZE, 1 (M) . 2(OOHEM) . 3(HE) . 4(PPV20B). 5(V28)ELT, FEZS—MoNEEEEHE
FFRAIESL. ZDOFEHICLYEHLTNS,

N BEQEERRE. 1(88).

ZOEHITKYFEHLTIVS,
= FNEEORHE. MEEN2EUTERT .

4(PPLER) 5(ER)ELT. BEZS—DLDOEEEEMEMR

2(EE). 3(PPHERTR). 4(MTR)ELT, FEZF—DLOEBFESEER RAIZEFL.



TAIF7IVNER (##  BHETRIY)

4% B0 el B R
7 WEFR | siEAZE | SEEZ | EEZ | EEZ | SEEZ | REZ | EEE | sEEE | TEAE
9/1~5 10/1~5 EDE 9/1~5 10/1~5 EDE 9/1~5 10/1~5 EDE
JtiEE JiEE 3.2 32 0.0 2.5 25 0.0 — — —
® i EHE 35 34 A 01 30 30 0.0 — — —
AFE 34 34 0.0 2.9 29 0.0 — — —
ERE 34 33 A 0.1 2.9 29 0.0 — — —
MEER 38 38 0.0 3.0 26 A 04 — — —
W8 33 33 0.0 2.8 26 A 02 — — —
BEEE 36 3.4 A 02 3.2 3.1 A 0.1 — — —
RS RIRE 41 41 0.0 23 23 0.0 — — —
AR 33 33 0.0 3.0 3.0 0.0 — — —
BER 3.1 3.1 0.0 26 26 0.0 — — —
BER 35 35 0.0 3.0 30 0.0 — — —
FEE 39 35 A 04 2.3 22 A 0.1 — — —
9t 38 40 0.2 1.8 1.8 0.0 — — —
)8 33 33 0.0 2.3 23 0.0 — — —
WEE 40 43 0.3 2.0 20 0.0 — — —
EHE 3.3 3.4 0.1 2.8 3.0 0.2 — — —
E FETEN 33 34 0.1 30 30 0.0 — — —
e 32 3.2 0.0 28 28 0.0 — — —
aIE 34 3.4 0.0 2.8 3.0 0.2 — — —
T R 35 36 0.1 30 30 0.0 — — —
HEIR 38 37 A 0.1 2.6 26 0.0 — — —
BAR 34 3.4 0.0 2.7 2.7 0.0 — — —
=85 38 3.7 A 0.1 2.0 23 0.3 — — —
i BHE 3.1 33 0.2 26 27 0.1 — — —
#ER 3.0 3.0 0.0 3.0 30 0.0 — — —
REBRF 33 33 0.0 26 26 0.0 — — —
PN 33 36 0.3 3.0 30 0.0 — — —
EER 35 35 0.0 25 25 0.0 — — —
=RIE 3.0 3.0 0.0 3.0 3.0 0.0 — — —
fELE 35 35 0.0 2.7 28 0.1 — — —
] BIE 34 34 0.0 26 26 0.0 — — —
BiRE 35 35 0.0 2.1 2.1 0.0 — — —
ELLE 38 38 0.0 2.6 28 0.2 — — —
=TS 38 38 0.0 1.9 20 0.1 — — —
wog 3.3 3.3 0.0 3.0 3.0 0.0 — — —
] BEER 33 33 0.0 2.7 27 0.0 — — —
) 35 35 0.0 2.0 20 0.0 — — —
BIER 36 35 A 0.1 2.7 30 0.3 — — —
il 3.2 3.3 0.1 3.0 3.0 0.0 — — —
A -HE | BEE 38 38 0.0 2.4 24 0.0 — — —
hER 35 35 0.0 2.3 23 0.0 — — —
RIFE 40 40 0.0 1.2 1.2 0.0 — — —
B 35 35 0.0 2.5 25 0.0 — — —
KB 43 43 0.0 2.3 23 0.0 — — —
=41 39 37 A 02 2.3 22 A 0.1 — — —
BERBE 39 38 A 0.1 26 25 A 0.1 — — —
HiBE 36 3.6 0.0 3.1 3.1 0.0 — — —
[2ETHiE [ 351 349 | A002] 264 2.65 001 | — — — ]
[ EFHiE | 348 338 | A0.10] 3.00 296 | A004| — — — |

BABREHE - EFR-ERR-EEROTHE
(B%E) iFRIE@A

fiffiA% Eh = FHREIM TEERR
i o] FIEIAZE | SEAE | s1EAZE | fIEHAZE | SERZE | 1EAE | f1EAZE | SEHAZE | AIEAZ
9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE
tEE (18 3.2 3.2 0.0 25 25 0.0 — — —
® i (612) 3.5 34 A 01 3.0 2.9 A 0.1 — — —
SIS (1#B81R) 3.6 3.6 0.0 24 25 0.1 — — —
it B (38) 3.3 3.3 0.0 2.9 3.0 0.1 — — —
AR (418) 3.6 3.6 0.0 2.7 2.7 0.0 — — —
o (2FF512) 3.3 3.3 0.0 2.7 2.8 0.1 — — —
fE (518) 3.6 3.6 0.0 24 25 0.1 — — —
E (4182) 34 34 0.0 2.6 2.7 0.1 — — —
S -ihsE | (8R) 3.7 3.7 0.0 25 2.5 0.0 — — —
) LR OB,

1. REOMEEAZ, 1 (T%E), 2(0OTE). 3HEELY), 4(PPLR), 5(EF)ELT, FEE=F—DoOEEZLZEEERR
AIZEETL, ZDOFHITIVFEHLTIVS,

. REOFEBAZE, 1 (M) . 2(OOHEM) . 3(HE) . 4(PPV20B). 5(V28)ELT, FEZS—MoNEEEEHE
FFRAIESL. ZDOFEHICLYEHLTNS,

N BEQEERRE. 1(BE). 2(F8). 3(OPAEFR). 4(@FTR)ELT, EEZ2—hoDEIBEZEEERRACEFL.
ZOEHITKYFEHLTIVS,

= FNEEORHE. MEEN2EUTERT .



TAI7IVNEM (BEH : BHETRIY)

fiffi& B =) EiaEM TEEIKR
om | HERR | fiERZ | SERE | ERE | ERE | SERAZ | MEHAE | AT | sEHEE | sEHs
9/1~5 10/1~5 LDE 9/1~5 | 10/1~5 LnE 9/1~5 10/1~5 LDE
dbimE dbiEE 3.3 3.3 0.0 2.8 2.8 0.0 — — —
R’ it EHR 3.5 34 A 0.1 3.0 3.0 0.0 — — —
AEFR 34 34 0.0 2.9 2.9 0.0 — — —
EEE 34 3.2 A 02 2.7 2.7 0.0 — — —
AR 3.6 3.7 0.1 2.8 2.7 A 0.1 — — —
TG 3.3 3.3 0.0 2.7 2.6 A 0.1 — — —
EER 34 3.3 A 0.1 3.2 3.2 0.0 — — —
B = TR 40 40 0.0 2.8 2.8 0.0 — — —
[7EN 3.3 3.3 0.0 3.0 3.3 0.3 — — —
HER 3.2 3.2 0.0 3.0 3.0 0.0 — — —
HER 3.5 35 0.0 3.0 3.0 0.0 — — —
FHER 3.6 35 A 0.1 24 24 0.0 — — —
B 3.8 40 0.2 1.8 1.8 0.0 — — —
#HRNE 3.3 3.3 0.0 2.3 2.3 0.0 — — —
I 3.9 40 0.1 24 2.7 0.3 — — —
EHFE 3.2 3.2 0.0 2.9 3.0 0.1 — — —
I B HiRE 3.3 3.3 0.0 3.1 3.1 0.0 — — —
=R 3.3 3.3 0.0 2.7 2.7 0.0 — — —
AR 3.5 34 A 0.1 2.9 3.0 0.1 — — —
AR I BRI 3.5 35 0.0 3.0 3.0 0.0 — — —
FRiE IR 3.9 3.8 A 01 2.7 2.7 0.0 — — —
BHR 34 34 0.0 2.8 2.8 0.0 — — —
= 34 3.3 A 0.1 24 2.7 0.3 — — —
Pl BHE 3.1 3.3 0.2 2.8 2.8 0.0 — — —
HER 3.0 3.0 0.0 3.0 3.0 0.0 — — —
RERRF 34 34 0.0 2.9 2.9 0.0 — — —
KBRFF 3.3 35 0.2 3.1 3.2 0.1 — — —
EER 3.5 35 0.0 25 25 0.0 — — —
=RR 3.2 3.0 A 02 2.8 3.0 0.2 — — —
MILE 3.7 3.6 A 0.1 2.7 2.8 0.1 — — —
t B BHIR 34 34 0.0 2.6 25 A 0.1 — — —
SRR 34 34 0.0 2.3 2.3 0.0 — — —
& Ll 2 3.8 3.9 0.1 2.7 2.8 0.1 — — —
LE8 3.6 35 A 0.1 1.9 20 0.1 — — —
iTf=]} 3.0 3.0 0.0 3.0 3.0 0.0 — — —
m = EER 3.3 3.3 0.0 2.8 2.8 0.0 — — —
FINR 3.5 35 0.0 2.3 2.3 0.0 — — —
BIER 3.5 34 A 0.1 2.9 2.9 0.0 — — —
EHE 3.3 3.3 0.0 2.9 2.9 0.0 — — —
Ju-hEE | ERER 3.5 35 0.0 25 25 0.0 — — —
EER 3.2 3.2 0.0 3.2 3.2 0.0 — — —
RIFE 3.6 3.6 0.0 1.9 1.9 0.0 — — —
REARR 3.5 35 0.0 2.6 2.6 0.0 — — —
KHR 43 43 0.0 2.3 2.3 0.0 — — —
R 3.8 3.7 A 01 24 2.3 A 0.1 — — —
BREE 3.8 3.7 A 0.1 2.7 2.7 0.0 — — —
PEER 3.5 3.5 0.0 3.1 3.1 0.0 — — —
[ 2EFH8E [ 346 3.45 A 0.01 2.72 2.73 001 | — — — ]
|3 TYiE | 337 3.30 A 0.07 2.93 2.92 A 001 | — — —
HKBRENE - EFR-EHR-EEROTHIE
(%) iR
fiffiA% Eh = FHREIM TEERR
#h o] FIEIAZE | SEAE | s1EAZE | fIEHAZE | SERZE | 1EAE | f1EAZE | SEHAZE | AIEAZ
9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE
tEE (18 3.3 3.3 0.0 2.8 2.8 0.0 — — —
" ((68) 34 3.3 A 01 2.9 2.8 A 0.1 — — —
B R (1#88) 3.5 35 0.0 2.7 2.7 0.0 — — —
B GR) 34 34 0.0 2.9 3.0 0.1 — — —
t o8B (4R) 3.5 35 0.0 2.8 2.8 0.0 — — —
& |(2FF5R) 3.3 34 0.1 2.8 2.8 0.0 — — —
fE (518) 3.5 35 0.0 25 25 0.0 — — —
Ed] (4182) 34 34 0.0 2.8 2.7 A 0.1 — — —
S -ihsE | (8R) 3.6 3.6 0.0 2.6 2.6 0.0 — — —
) LR OB,

1. REQMEEBAE, 1(TH), 2(PPTH). IHIELY).

AIZEETL, ZDOFHITIVFEHLTIVS,
. REOFEBAZE, 1 (M) . 2(OOHEM) . 3(HE) . 4(PPV20B). 5(V28)ELT, FEZS—MoNEEEEHE
FFRAIESL. ZDOFEHICLYEHLTNS,

N BEQEERRE. 1(88).

ZOEHITKYFEHLTIVS,
= FNEEORHE. MEEN2EUTERT .

4(PPLER). 5(EFELT.

BFEZS—MODOEIEEEHEMR

2(EE). 3(PPHERTR). 4(MTR)ELT, FEZF—DLOEBFESEER RAIZEFL.



B8 ( SD295A D16)

fiffi& B =) EiaEM TEEIKR
om | HERR | fiERZ | SERE | ERE | ERE | SERAZ | MEHAE | AT | sEHEE | sEHs
9/1~5 10/1~5 LDE 9/1~5 | 10/1~5 LnE 9/1~5 10/1~5 LDE
dbimE dbiEE 3.2 3.2 0.0 2.9 2.9 0.0 2.2 — —
R’ it EHR 2.9 2.8 A 0.1 3.0 3.0 0.0 20 — —
AEFR 3.1 3.1 0.0 2.7 2.7 0.0 — — —
EEE 34 3.6 0.2 3.0 3.0 0.0 — — —
AR 3.0 3.2 0.2 2.8 2.8 0.0 — — —
TG 3.3 3.2 A 0.1 2.7 2.7 0.0 — — —
EER 3.3 3.5 0.2 2.8 2.7 A 0.1 — — —
B = TR 3.0 3.0 0.0 2.3 2.3 0.0 1.8 — —
[7EN 2.7 2.7 0.0 25 2.7 0.2 20 (2.0) 0.0
HER 2.8 3.0 0.2 3.0 3.0 0.0 20 — —
HER 25 (2.5) 0.0 3.0 (8.0 0.0 — — —
FHER 25 (2.5) 0.0 20 (2.0) 0.0 1.0 — —
B 24 2.7 0.3 2.8 2.9 0.1 20 — —
#HRNE 2.7 2.7 0.0 2.6 2.7 0.1 2.0 — —
I 3.0 3.0 0.0 2.2 2.2 0.0 1.7 — —
EHFE 3.5 3.5 0.0 3.1 3.1 0.0 2.0 — —
I B HiRE 3.0 3.1 0.1 3.0 3.0 0.0 22 (2.0) A 02
=R 2.9 2.9 0.0 2.3 24 0.1 1.8 — —
AR 3.3 3.3 0.0 3.0 2.8 A 02 2.0 (2.0) 0.0
AR I BRI 3.2 3.2 0.0 2.9 3.0 0.1 20 — —
FRiE IR 3.3 3.3 0.0 3.0 3.0 0.0 — — —
BHR 2.7 2.7 0.0 2.7 2.7 0.0 2.0 — —
=58 25 2.3 A 02 25 2.3 A 02 2.0 — —
Pl BHE 3.2 34 0.2 3.0 3.1 0.1 20 (2.0) 0.0
HER 2.6 2.6 0.0 2.9 2.9 0.0 20 — —
RERRF 3.0 3.0 0.0 2.9 3.0 0.1 2.0 (2.0) 0.0
KBRFF 2.2 2.2 0.0 25 25 0.0 1.8 — —
EER 2.8 3.0 0.2 3.0 3.0 0.0 2.0 — —
=RR 2.9 2.6 A 03 29 2.9 0.0 25 (1.5) A10
MILE 2.9 2.7 A 02 2.9 3.0 0.1 2.0 (2.0) 0.0
t B BHIR 3.5 35 0.0 2.7 2.7 0.0 20 — —
SRR 3.0 3.0 0.0 2.7 2.7 0.0 20 — —
& Ll 2 29 2.9 0.0 2.9 2.9 0.0 — — —
LE8 2.9 2.8 A 0.1 2.6 2.8 0.2 20 — —
iTf=]} 2.8 2.8 0.0 2.3 2.3 0.0 1.8 — —
m = EER 2.9 2.9 0.0 2.6 2.6 0.0 1.0 — —
FINR 2.6 2.6 0.0 2.6 2.6 0.0 20 — —
BIER 3.2 3.3 0.1 3.0 3.0 0.0 20 (2.0) 0.0
EHE 3.0 2.9 A 0.1 3.0 3.0 0.0 2.0 — —
Ju-hEE | ERER 2.8 2.8 0.0 2.8 2.8 0.0 — — —
EER 3.0 3.0 0.0 3.0 3.0 0.0 — — —
RIFE 3.3 3.3 0.0 25 25 0.0 — — —
REARR 3.5 (3.5) 0.0 3.0 (3.0 0.0 — — —
KHR 2.8 2.8 0.0 2.8 2.8 0.0 — — —
R 34 34 0.0 3.0 3.0 0.0 — — —
BREE 3.0 3.0 0.0 2.8 2.8 0.0 — — —
PEER 3.0 2.9 A 0.1 2.9 2.9 0.0 1.8 — —
[ 2EFH8E [ 297 2.98 001 | 280 2.81 001 [ 197 1.91 A 0.06 |
|3 TYiE | 329 3.40 011 | 2.86 2.80 A 006 | — — —
HKBRENE - EFR-EHR-EEROTHIE
(%) iR
fiffiA% Eh = FHREIM TEERR
#h o] FIEIAZE | SEAE | s1EAZE | fIEHAZE | SERZE | 1EAE | f1EAZE | SEHAZE | AIEAZ
9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE
tEE (18 3.2 3.2 0.0 2.9 2.9 0.0 2.2 — —
" ((68) 3.2 3.2 0.0 2.9 2.8 A 0.1 20 — —
B R (1#88) 2.8 2.9 0.1 2.7 2.7 0.0 1.9 20 0.1
B GR) 3.1 3.1 0.0 2.8 2.8 0.0 20 20 0.0
t o8B (4R) 3.0 3.0 0.0 2.8 2.8 0.0 2.0 — —
& |(2FF5R) 2.7 2.8 0.1 2.8 2.9 0.1 20 1.8 A 02
fE (518) 3.0 2.9 A 0.1 2.6 2.7 0.1 1.9 — —
Ed] (4182) 2.9 2.9 0.0 2.8 2.8 0.0 1.8 20 0.2
S -ihsE | (8R) 3.0 3.0 0.0 2.8 2.8 0.0 1.8 — —
) LR OB,

1. REQMEEBAE, 1(TH), 2(PPTH). IHIELY).

AIZEETL, ZDOFHITIVFEHLTIVS,
. REOFEBAZE, 1 (M) . 2(OOHEM) . 3(HE) . 4(PPV20B). 5(V28)ELT, FEZS—MoNEEEEHE
FFRAIESL. ZDOFEHICLYEHLTNS,

N BEQEERRE. 1(88).

ZOEHITKYFEHLTIVS,
= FNEEORHE. MEEN2EUTERT .

4(PPLER) 5(ER)ELT. BEZS—DLDOEEEEMEMR

2(EE). 3(PPHERTR). 4(MTR)ELT, FEZF—DLOEBFESEER RAIZEFL.



HFZ$8 ( [K1E200 x 100 X 5.5 X 8mm )

No. 10

fiffi& B =) EiaEM TEEIKR
om | HERR | fiERZ | SERE | ERE | ERE | SERAZ | MEHAE | AT | sEHEE | sEHs
9/1~5 10/1~5 LDE 9/1~5 | 10/1~5 LnE 9/1~5 10/1~5 LDE
dbimE dbiEE 3.2 3.2 0.0 2.9 2.9 0.0 2.2 — —
R’ it EHR 3.3 3.1 A 02 2.8 2.8 0.0 20 — —
AEFR 3.0 3.0 0.0 2.8 2.8 0.0 — — —
EEE 3.6 3.3 A 03 3.0 3.2 0.2 — — —
AR 3.0 3.0 0.0 3.0 3.0 0.0 — — —
TG 3.2 3.0 A 02 2.6 2.6 0.0 — — —
EER 3.3 34 0.1 2.9 2.9 0.0 — — —
B = TR 2.8 2.8 0.0 2.7 2.7 0.0 1.8 — —
[7EN 3.0 3.0 0.0 2.8 3.0 0.2 20 (2.0) 0.0
HER 3.0 3.0 0.0 3.0 3.0 0.0 20 — —
HER 3.0 (3.0) 0.0 3.0 (8.0 0.0 — (2.0) —
FHER 25 (2.5) 0.0 20 (2.0) 0.0 2.0 — —
B 2.9 2.8 A 01 3.1 3.2 0.1 20 (2.0) 0.0
#HRNE 3.0 3.0 0.0 2.7 2.8 0.1 2.0 — —
I 3.0 3.0 0.0 2.2 2.2 0.0 1.7 — —
EHFE 3.0 3.0 0.0 3.2 3.2 0.0 2.0 — —
I B HiRE 2.8 2.8 0.0 2.8 3.1 0.3 20 (2.0) 0.0
=R 2.7 2.8 0.1 2.6 25 A 0.1 1.8 (2.0) 0.2
AR 3.3 3.3 0.0 3.0 3.0 0.0 2.0 (2.5) 0.5
AR I BRI 34 34 0.0 3.3 3.1 A 02 20 — —
FRiE IR 3.2 3.2 0.0 3.0 3.0 0.0 — — —
BHR 2.7 2.7 0.0 2.9 2.9 0.0 2.0 — —
=58 2.7 (2.5) A 02 2.3 (2.0) A 03 2.0 — —
Pl BHE 3.2 3.3 0.1 3.0 3.1 0.1 20 (2.0) 0.0
HER 2.6 25 A 01 2.9 2.8 A 0.1 20 — —
RERRF 3.0 3.0 0.0 2.9 3.0 0.1 20 — —
KBRFF 24 25 0.1 2.6 2.7 0.1 2.2 — —
EER 3.0 3.0 0.0 3.0 3.0 0.0 2.0 — —
=RR 3.0 2.8 A 02 3.0 2.8 A 02 1.7 (1.5) A 02
MILE 2.8 2.7 A 0.1 2.8 2.9 0.1 2.0 (2.0) 0.0
t B BHIR 3.8 3.8 0.0 3.0 3.0 0.0 — — —
SRR 3.0 3.0 0.0 2.7 2.7 0.0 20 — —
& Ll 2 3.0 3.0 0.0 3.0 3.0 0.0 — — —
LBR 3.0 3.0 0.0 2.6 2.8 0.2 1.7 — —
iTf=]} 3.0 3.0 0.0 2.6 2.6 0.0 2.0 — —
m = EER 3.0 3.0 0.0 3.0 3.0 0.0 2.0 — —
FINR 2.3 2.3 0.0 2.8 2.8 0.0 20 — —
BIER 3.2 3.2 0.0 3.0 3.0 0.0 20 (2.0) 0.0
EHE 3.0 2.8 A 02 3.0 3.0 0.0 2.0 — —
Ju-hEE | ERER 25 (2.5) 0.0 25 (2.5) 0.0 — — —
EER 3.0 (3.0) 0.0 3.0 (8.0) 0.0 — — —
RIBR 3.0 3.0 0.0 3.0 3.0 0.0 — — —
REARR 3.3 3.3 0.0 3.0 3.0 0.0 — — —
KHR 2.7 2.7 0.0 2.7 2.7 0.0 — — —
R 3.3 3.3 0.0 3.0 3.0 0.0 — — —
BREE 3.0 3.0 0.0 3.0 3.0 0.0 — — —
PEER 3.2 3.2 0.0 3.0 3.0 0.0 1.7 — —
[ 2EFH8E | 3.01 3.00 A 0.01 2.85 2.88 0.03 1.98 2.00 002 |
|3 TYiE | 330 3.26 A 0.04 2.89 2.94 0.05 — — —
HKBRENE - EFR-EHR-EEROTHIE
(%) iR
fiffiA% Eh = FHREIM TEERR
#h o] FIEIAZE | SEAE | s1EAZE | fIEHAZE | SERZE | 1EAE | f1EAZE | SEHAZE | AIEAZ
9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE
tEE (18 3.2 3.2 0.0 2.9 2.9 0.0 2.2 — —
" ((68) 3.2 3.2 0.0 2.8 2.9 0.1 20 — —
B R (1#88) 2.9 2.9 0.0 2.8 2.8 0.0 1.9 20 0.1
B GR) 3.0 3.0 0.0 2.8 2.9 0.1 1.9 2.2 0.3
t o8B (4R) 3.0 3.0 0.0 3.0 2.9 A 0.1 2.0 — —
& |(2FF5R) 2.8 2.8 0.0 2.9 2.9 0.0 20 1.8 A 02
fE (518) 3.1 3.1 0.0 2.7 2.8 0.1 1.9 — —
Ed] (4182) 2.9 2.8 A 01 2.9 2.9 0.0 20 20 0.0
S -ihsE | (8R) 3.1 3.1 0.0 2.9 2.9 0.0 1.7 — —
) LR OB,

1. REQMEEBAE, 1(TH), 2(PPTH). IHIELY).
a.

AW

AIZEETL, ZDOFHITIVFEHLTIVS,
REDOFRBAE, 1(GEM) . 2(OOFEM) . 3. 4(RPV-20B). 5(V-8)ELT, FEZS—MoNEEEEHE
FFRAIESL. ZDOFEHICLYEHLTNS,

REDERKRE. 1(2E).

ZOEHITKYFEHLTIVS,

4(PPLER) 5(ER)ELT. BEZS—DLDOEEEEMEMR

2(EE). 3(PPHERTR). 4(MTR)ELT, FEZF—DLOEBFESEER RAIZEFL.
. FIEEOERE. AEEN2EUTERT,



No. 11

AAF (&)
fiffi& B =) EiaEM TEEIKR
om | HERR | fiERZ | SERE | ERE | ERE | SERAZ | MEHAE | AT | sEHEE | sEHs
9/1~5 10/1~5 LDE 9/1~5 | 10/1~5 LnE 9/1~5 10/1~5 LDE
dbimE dbiEE 3.2 3.2 0.0 2.6 25 A 0.1 2.0 — —
R’ it EHR 3.0 2.9 A 0.1 2.8 2.8 0.0 — — —
AEFR 3.2 3.2 0.0 2.8 2.8 0.0 — — —
EEE 3.0 3.0 0.0 3.0 3.0 0.0 — — —
AR 3.0 3.0 0.0 2.7 2.8 0.1 — — —
I 3.0 3.0 0.0 2.7 2.7 0.0 20 (2.0) 0.0
EER 2.9 3.0 0.1 2.8 2.8 0.0 2.0 — —
B = TR 3.3 3.3 0.0 3.0 3.0 0.0 25 — —
[7EN 3.0 3.0 0.0 3.3 3.3 0.0 20 (2.0) 0.0
BER 3.0 3.0 0.0 3.0 3.0 0.0 — — —
HER 3.0 3.0 0.0 3.0 3.0 0.0 20 — —
FHER 40 (4.0) 0.0 3.0 3.0 0.0 — — —
B 3.0 (3.0) 0.0 25 (8.0) 0.5 20 (2.0) 0.0
#HRNE 2.2 24 0.2 2.8 3.0 0.2 1.5 (2.0) 0.5
I 2.7 2.7 0.0 3.0 3.0 0.0 23 (3.0) 0.7
RHR 4.0 (4.0) 0.0 40 (4.0) 0.0 — — —
I B HiRE 3.3 3.3 0.0 3.1 2.9 A 02 23 (2.0) A 03
=R 3.0 3.0 0.0 2.7 3.0 0.3 2.0 (2.0) 0.0
AR 3.3 3.3 0.0 3.0 3.1 0.1 2.0 2.0 0.0
AR I BRI 3.3 3.3 0.0 3.1 3.1 0.0 — — —
FRiE IR 3.0 3.0 0.0 3.0 3.0 0.0 — — —
BHR 3.2 3.3 0.1 3.0 3.0 0.0 2.0 — —
=58 — — — — — — — — —
Pl BHE 3.0 3.3 0.3 2.6 2.8 0.2 1.0 (1.0) 0.0
HER 3.0 3.0 0.0 24 2.7 0.3 20 (2.0) 0.0
RERRF 3.2 3.0 A 02 3.0 3.0 0.0 — — —
KBRFF 2.9 2.8 A 01 2.9 2.8 A 0.1 20 — —
EER 3.3 3.3 0.0 3.0 3.0 0.0 20 (2.0) 0.0
=RR 3.0 2.8 A 02 2.8 2.8 0.0 20 (2.0) 0.0
MILE 3.2 3.2 0.0 3.0 3.2 0.2 2.0 (2.0) 0.0
t B BHIR 3.5 3.8 0.3 3.0 3.3 0.3 20 — —
SRR 2.8 3.0 0.2 24 25 0.1 20 — —
& Ll 2 3.0 3.0 0.0 25 25 0.0 1.7 — —
LBR 3.0 3.0 0.0 24 2.3 A 0.1 20 — —
g 3.5 (3.5) 0.0 3.0 (3.0) 0.0 — — —
m = EER 3.0 (3.0) 0.0 3.0 (3.0 0.0 — — —
FNE 3.0 (3.0) 0.0 3.0 (8.0) 0.0 — — —
BIER 3.3 3.3 0.0 2.3 2.3 0.0 1.5 — —
EHE 3.5 (3.0) A 05 3.0 (3.0) 0.0 — — —
Ju-hEE | ERER 25 (2.5) 0.0 3.0 (3.0 0.0 — — —
EER 2.8 2.8 0.0 2.8 2.8 0.0 20 — —
RIBR 3.0 3.0 0.0 3.0 3.0 0.0 — — —
REARR 2.8 2.8 0.0 2.6 2.6 0.0 20 — —
KHR 2.6 2.6 0.0 20 2.0 0.0 2.0 — —
R 3.5 (3.5) 0.0 35 (8.5) 0.0 — — —
BREE 2.7 2.7 0.0 2.3 2.3 0.0 — — —
PEER 3.2 3.2 0.0 3.0 2.9 A 0.1 2.0 — —
[ 2EFH8E [ 3.06 3.07 0.01 2.81 2.83 002 | 199 2.00 001 |
|3 TYiE | 3.00 3.05 0.05 2.87 2.86 A 001 ] 200 — —
HKBRENE - EFR-EHR-EEROTHIE
(%) iR
fiffiA% Eh = FHREIM TEERR
it e FIEIAZE | SEAE | s1EAZE | fIEHAZE | SERZE | 1EAE | f1EAZE | SEHAZE | AIEAZ
9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE
dtimE (18 3.2 3.2 0.0 2.6 25 A 0.1 2.0 — —
" ((68) 3.0 3.0 0.0 2.8 2.8 0.0 20 20 0.0
B R (1#88) 2.9 3.0 0.1 3.0 3.1 0.1 2.1 2.3 0.2
B GR) 33 3.3 0.0 3.0 3.0 0.0 2.1 20 A 01
t o8B (4R) 3.2 3.2 0.0 3.1 3.1 0.0 2.0 — —
& |(2FF5R) 3.1 3.1 0.0 2.8 2.9 0.1 1.9 1.8 A 01
fE (518) 3.1 3.2 0.1 2.6 2.6 0.0 1.9 — —
Ed] (4182) 3.3 3.2 A 01 2.7 2.6 A 0.1 1.5 — —
S -ihsE | (8R) 2.9 2.9 0.0 2.7 2.7 0.0 2.0 — —
) LR OB,

1. REQMEEBAE, 1(TH), 2(PPTH). IHIELY).

AIZEETL, ZDOFHITIVFEHLTIVS,
. REOFEBAZE, 1 (M) . 2(OOHEM) . 3(HE) . 4(PPV20B). 5(V28)ELT, FEZS—MoNEEEEHE
FFRAIESL. ZDOFEHICLYEHLTNS,

N BEQEERRE. 1(88).

ZOEHITKYFEHLTIVS,
= FNEEORHE. MEEN2EUTERT .

4(PPLER) 5(ER)ELT. BEZS—DLDOEEEEMEMR

2(EE). 3(PPHERTR). 4(MTR)ELT, FEZF—DLOEBFESEER RAIZEFL.



A (EEREIR)

No. 12

fiffi& B =) EiaEM TEEIKR
om | HERR | fiERZ | SERE | ERE | ERE | SERAZ | MEHAE | AT | sEHEE | sEHs
9/1~5 10/1~5 LDE 9/1~5 | 10/1~5 LnE 9/1~5 10/1~5 LDE
dbimE dbiEE 3.2 3.2 0.0 2.7 2.7 0.0 2.0 — —
R’ it EHR 3.3 3.1 A 02 2.7 2.7 0.0 — — —
AEFR 3.0 3.0 0.0 2.8 2.8 0.0 — — —
EEE 3.0 3.0 0.0 2.8 2.7 A 0.1 — — —
AR 3.1 2.8 A 03 2.9 2.9 0.0 20 (2.0) 0.0
TG 3.0 3.2 0.2 2.6 2.6 0.0 — — —
EER 2.9 3.0 0.1 2.8 2.8 0.0 2.0 — —
B = TR 40 40 0.0 3.3 3.3 0.0 2.0 — —
[7EN 3.0 3.0 0.0 3.3 3.3 0.0 20 (2.0) 0.0
HER 3.0 3.0 0.0 3.0 3.0 0.0 20 — —
HER 3.0 (3.0) 0.0 3.0 (8.0 0.0 20 — —
FHER 40 (4.0) 0.0 3.0 3.0 0.0 — — —
B 3.0 (3.0) 0.0 2.8 (8.0) 0.2 20 (2.0) 0.0
#HRNE 2.8 3.0 0.2 2.8 3.0 0.2 1.5 (2.0) 0.5
I 2.7 2.7 0.0 3.0 3.0 0.0 23 (3.0) 0.7
EHFE 3.4 34 0.0 3.2 3.2 0.0 — — —
I B HiRE 3.2 3.2 0.0 3.0 2.7 A 03 20 (2.0) 0.0
=R 3.3 3.2 A 0.1 2.8 24 A 04 20 (2.0) 0.0
AR 3.3 3.3 0.0 3.1 3.0 A 0.1 2.0 (2.0) 0.0
AR I BRI 34 34 0.0 2.9 2.9 0.0 — — —
FRiE IR 3.3 3.2 A 01 3.3 3.2 A 0.1 — — —
BHR 3.2 3.2 0.0 3.0 3.0 0.0 2.0 — —
=58 — — — — — — — — —
Pl BHE 3.2 34 0.2 2.8 3.0 0.2 20 (1.5) A 05
HER 3.0 3.0 0.0 24 2.7 0.3 20 (2.0) 0.0
RERRF 3.2 3.0 A 02 3.0 3.0 0.0 — — —
KBRFF 3.2 3.3 0.1 2.8 2.7 A 0.1 1.8 (2.0) 0.2
EER 3.1 3.0 A 0.1 3.1 3.1 0.0 20 (2.0) 0.0
=RR 3.0 2.8 A 02 2.8 2.8 0.0 20 (2.0) 0.0
MILE 3.3 3.3 0.0 3.0 3.2 0.2 2.0 (2.0) 0.0
t B BHIR 3.2 3.3 0.1 2.7 2.7 0.0 1.5 — —
SRR 3.0 3.0 0.0 2.6 2.6 0.0 20 — —
& Ll 2 2.8 2.8 0.0 2.8 2.8 0.0 20 — —
LBR 3.0 3.0 0.0 2.7 2.7 0.0 20 — —
iTf=]} 3.3 3.3 0.0 3.0 3.0 0.0 — — —
m = EER 3.3 3.3 0.0 25 25 0.0 — — —
FINR 2.7 2.7 0.0 3.0 3.0 0.0 — — —
BIER 3.5 35 0.0 3.0 3.0 0.0 — — —
EHE 3.3 3.0 A 03 3.0 3.0 0.0 — — —
Ju-hEE | ERER 3.0 (3.0) 0.0 3.0 (3.0 0.0 — — —
EER 2.6 2.6 0.0 2.6 2.6 0.0 20 — —
RIBR 25 (2.5) 0.0 3.0 3.0 0.0 — — —
REARR 3.0 3.0 0.0 3.0 3.0 0.0 — — —
KHR 3.0 3.0 0.0 2.7 2.7 0.0 — — —
R 3.0 (3.0) 0.0 3.0 (8.0) 0.0 — — —
BREE 3.3 3.3 0.0 2.8 2.8 0.0 — — —
PEER 2.7 3.0 0.3 3.0 2.9 A 0.1 2.0 — —
[ 2EFH8E [ 310 3.11 0.01 2.87 2.87 000 | 197 2.00 003 |
|3 TYiE | 296 3.00 0.04 2.78 2.77 A 001 ] 200 — —
HKBRENE - EFR-EHR-EEROTHIE
(%) iR
fiffiA% Eh = FHREIM TEERR
#h o] FIEIAZE | SEAE | s1EAZE | fIEHAZE | SERZE | 1EAE | f1EAZE | SEHAZE | AIEAZ
9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE
tEE (18 3.2 3.2 0.0 2.7 2.7 0.0 2.0 — —
" ((68) 3.0 3.0 0.0 2.8 2.8 0.0 20 20 0.0
B R (1#88) 3.1 3.2 0.1 3.0 3.1 0.1 20 2.3 0.3
B GR) 3.3 3.3 0.0 3.0 2.8 A 02 20 20 0.0
t o8B (4R) 3.3 3.3 0.0 3.0 3.0 0.0 2.0 — —
& |(2FF5R) 3.2 3.1 A 01 2.9 2.9 0.0 1.9 1.9 0.0
fE (518) 3.0 3.1 0.1 2.8 2.7 A 0.1 1.9 — —
Ed] (4182) 3.2 3.1 A 01 2.9 2.9 0.0 — — —
S -ihsE | (8R) 2.8 2.9 0.1 2.9 2.8 A 0.1 2.0 — —
) LR OB,

1. REQMEEBAE, 1(TH), 2(PPTH). IHIELY).

AIZEETL, ZDOFHITIVFEHLTIVS,
. REOFEBAZE, 1 (M) . 2(OOHEM) . 3(HE) . 4(PPV20B). 5(V28)ELT, FEZS—MoNEEEEHE
FFRAIESL. ZDOFEHICLYEHLTNS,

N BEQEERRE. 1(88).

ZOEHITKYFEHLTIVS,
= FNEEORHE. MEEN2EUTERT .

4(PPLER) 5(ER)ELT. BEZS—DLDOEEEEMEMR

2(EE). 3(PPHERTR). 4(MTR)ELT, FEZF—DLOEBFESEER RAIZEFL.
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No. 13

fiffi& B =) EiaEM TEEIKR
om | HERR | fiERZ | SERE | ERE | ERE | SERAZ | MEHAE | AT | sEHEE | sEHs
9/1~5 10/1~5 LDE 9/1~5 | 10/1~5 LnE 9/1~5 10/1~5 LDE
dbimE dbiEE 44 44 0.0 2.8 2.8 0.0 — — —
R’ it BHE 43 43 0.0 3.0 3.0 0.0 — — —
AEFR 4.6 41 A 05 2.7 2.7 0.0 — — —
EEE 42 41 A 0.1 2.9 2.9 0.0 — — —
AR 42 3.9 A 03 2.9 2.8 A 0.1 — — —
TG 40 3.6 A 04 25 24 A 0.1 — — —
EER 4.6 40 A 0.6 3.0 2.8 A 02 — — —
B = TR 45 45 0.0 3.0 3.0 0.0 — — —
[7EN 43 3.7 A 06 2.7 2.7 0.0 — — —
HER 40 40 0.0 3.2 3.2 0.0 — — —
HER 43 3.8 A 05 3.0 3.0 0.0 — — —
FER 42 42 0.0 2.7 2.7 0.0 — — —
B 3.6 2.6 A10 2.7 2.6 A 0.1 — — —
#HRNE 3.9 35 A 04 2.8 2.8 0.0 — — —
I 45 45 0.0 35 3.5 0.0 — — —
RHR 45 4.3 A 02 3.0 3.2 0.2 — — —
I B HiRE 42 3.7 A 05 29 2.9 0.0 — — —
=R 43 35 A 08 2.8 2.9 0.1 — — —
AR 44 3.9 A 05 2.8 2.8 0.0 — — —
AR Iz B2 IR 45 44 A 0.1 2.9 2.9 0.0 — — —
FRiE IR 44 3.7 A 07 3.0 3.0 0.0 — — —
BHR 43 43 0.0 3.0 3.0 0.0 — — —
=EE 43 43 0.0 2.7 2.7 0.0 — — —
Pl BHE 3.7 3.6 A 0.1 2.9 3.0 0.1 — — —
HER 40 3.2 A 038 34 34 0.0 — — —
RERRF 3.7 3.7 0.0 3.0 3.0 0.0 — — —
KBRFF 3.9 3.6 A 03 3.0 3.0 0.0 — — —
EER 40 3.7 A 03 3.2 3.0 A 02 — — —
=RR 40 41 0.1 3.3 3.3 0.0 — — —
MILE 3.6 3.5 A 0.1 2.8 3.3 0.5 — — —
t B BHIR 43 43 0.0 2.8 2.8 0.0 — — —
SRR 42 42 0.0 2.7 2.7 0.0 — — —
& Ll 2 42 42 0.0 3.0 3.0 0.0 — — —
LE8 45 43 A 02 25 2.6 0.1 — — —
iTf=]} 4.0 40 0.0 2.7 2.7 0.0 — — —
m = EER 43 43 0.0 3.0 3.0 0.0 — — —
FINR 43 43 0.0 3.1 3.1 0.0 — — —
BIER 45 45 0.0 3.0 3.0 0.0 — — —
EHE 45 45 0.0 2.9 2.9 0.0 — — —
Ju-hEE | ERER 43 43 0.0 2.7 2.7 0.0 — — —
EER 43 43 0.0 3.0 3.0 0.0 — — —
RIFE 42 42 0.0 2.6 2.6 0.0 — — —
REARR 45 45 0.0 3.0 3.0 0.0 — — —
KHR 43 43 0.0 3.0 3.0 0.0 — — —
R 45 42 A 03 2.8 2.8 0.0 — — —
BREE 4.1 41 0.0 2.9 2.9 0.0 — — —
PEER 42 40 A 02 2.8 3.0 0.2 — — —
[ 2EFH8E [ 424 4.03 A021] 288 2.89 001 | — — — ]
|3 TYiE | 446 4.09 A 037 ] 287 2.81 A 006 | — — —
HKBRENE - EFR-EHR-EEROTHIE
(%) iR
fiffiA% Eh = FHREIM TEERR
#h o] FIEIAZE | SEAE | s1EAZE | fIEHAZE | SERZE | 1EAE | f1EAZE | SEHAZE | AIEAZ
9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE 9/1~5 10/1~5 LDE
tEE (18 44 44 0.0 2.8 2.8 0.0 — — —
" ((68) 43 40 A 03 2.8 2.8 0.0 — — —
B R (1#88) 42 3.9 A 03 2.9 2.9 0.0 — — —
B GR) 43 3.7 A 06 2.9 2.9 0.0 — — —
t o8B (4R) 44 42 A 02 2.9 2.9 0.0 — — —
& |(2FF5R) 3.8 3.7 A 01 3.1 3.1 0.0 — — —
fE (518) 43 42 A 0.1 2.7 2.8 0.1 — — —
Ed] (4182) 44 44 0.0 3.0 3.0 0.0 — — —
S -ihsE | (8R) 43 42 A 0.1 2.8 2.9 0.1 — — —
) LR OB,

1. REQMEEBAE, 1(TH), 2(PPTH). IHIELY).
a.

AW

AIZEETL, ZDOFHITIVFEHLTIVS,
REDOFRBAE, 1(GEM) . 2(OOFEM) . 3. 4(RPV-20B). 5(V-8)ELT, FEZS—MoNEEEEHE
FFRAIESL. ZDOFEHICLYEHLTNS,

REDERKRE. 1(2E).

ZOEHITKYFEHLTIVS,

4(PPLER). 5(EFELT.

BFEZS—MODOEIEEEHEMR

2(EE). 3(PPHERTR). 4(MTR)ELT, FEZF—DLOEBFESEER RAIZEFL.
. FIEEOERE. AEEN2EUTERT,



